15" , ;
‘ | TR 21/2 x 21/2 PN 30006 CABLE ASSEMBLY BILL OF MATERIAL
PLATE W/HOLE
********* PN 338756 ANGLE STRUT 3" x 3" PN | QTY DESCRIPTION
********* (SEE DETAL) 16 2 12/126/3-11/2°/S
_ PN 704A CABLE ANCHOR PN 7826 BEARING PLATE 326 1 [12/12'6/6'3/S ANC (GUARDRAIL)
£ SUARORAL Eilr SL0T ayay |7OA | T |CABLE ANCHOR BRACKET
=z 0 W
= FROM TRAFFIC 705 | 1 [27x5 172" PIPE
7496 | 2 |60 TUBE SLEEVE
_____________ 7826 | 1 [5/8" x 8" x 8" BEARING PLATE
""" 9954 | 1 |ET-PLUS EXTRUDER
. 30006 | 1 |CABLE 3/4 x 6%
24" MAX OFFSET G
| T0 FACE GF RAL| 33006 | 8 |5/8" WASHER
LI — == e — = - = - = - = - — - = - = - = - - — - - - - — 33406 | 42 |5/8 HEX NUT
! & & & 33606 | 32 |5/8°0 x 1 1/& SPLICE BOLT
, PN 16 DEEP BEAM GUARDRAL PN 11G DEEP BEAM GUARDRAIL PN 20442 DEEP BEAM 25:1 MAXINUM PN 326 DEEP BEAM GUARDRAIL - ;
STANDARD 31"H GUARDRAIL [ | ! . ey 3478G| 2 | 5/8°9 x 7 1/27 HEX HD BOLT
12 GA x 12 12 GA x 12-6" LG GUARDRAIL 12 GA x 157 1/2 - : ;
x x x / FLARE RATE 12 6o x 12-6 (ngEggNglé;TEG%RDRM EXRUWER  [3s000 |1 5/8% x 10" POST BOLT
36206 | 7 |5/8"¢ x 22" POST BOLT
® @ @ @ @ @ @ TRAFFIC 37006 | 4 | 3/47 WASHER
37046 | 2 [3/4" HEX NUT
§-3 -3 §-3" 6-5" §-3 §-3 §-3" -3 gg?gg i 1 &?XSHNEURT
‘
Cev i1/ , , [ . ) [ | DO NOT ATTACH RAIL TO ]
|~ SYSTEM LENGTH = 531 1/2 \ 5/8° x.11/4" L6 HGR. L E 5/8' x 11/4 LG HGR. 3/8'0 x 4 16 LAG SCREWS POST @ THIS LOCATION 40718 | 7 | WD CRT 60 POST 6 x 8
5/8°0 x 1 1/4” LG HOR. 5/8°9 x 11/4 16 HGR. SPLICE [BOLTS & NUTS W ‘ SPLICE BOLTS & NUTS ‘ ‘ (SFE NOTE 5) 41408 2 [WD #-01/4" POST 5 1/2 x 71/2
SPLICE BOLTS & NUTS SPLICE BOLTS & NUTS \\ o ‘TA B 42286 | 2 |3/8"¢ x 4 LAG SCREW
il AL L o b o L L [0 5148C | 2 [3/4°9 x 9 1/2" HEX HD BOLT
] ‘ ; i i{ i i} | 61208 | 7 | WD BLOCK -2 x 6 x 12 DR
i L1 | | | | < 204426] 1 [12/15-7.5/3-15:206-3"/S
& \ ] ] T ] il il i 338756] 1 | ANGLE STRUT
L L L L L L L
M M M M M M M
I I I I I I I SEE NOTE 4
L L L L L L L
F FA F F F F FA
I I I I I I I
bl bl bl b bl bl b AFTER FINAL ASSEMBLY, RECHECK CABLE TO
} } } } } } } } } } } } } } BE SURE IT IS TAUT AND HAS NOT RELAXED.
L L L L L L 5 L
DRIVE NAILS & BEND
OVER TO PREVENT
PLATE ROTATION
PN 40718 POSTS RAIL PANEL HAS 6 RECTANGULAR T
HOLES AT THIS LOCATION TRAFFIC FACE
’ 1 ) H I |
| ANGLE 3" x 3" x 6'—6" | 0 \ [
| |
sL0T SLOT f—f—p—@» |
8055088 ‘ ‘ . I |
EVASE——S _ )
PN 326 GUARDRAL rC? PN 338756 STRUT Yiﬂ @ 7 E
PN 41408 WOOD POST I ] 4 7
o » CROUND STRUT DETAIL PN 782G BEARING PLATE
PN 40718 WOOD POST 4-01/47 L6 \ & x 5/8" x 8
60" LG \
VIEW K K

5/8"¢ x 10" LG H.G.R. BOLT
W/HEX NUT & WASHER (SEE NOTE 2)

E\ 5/878 x 22" LG H.G.R. BOLT

W/HEX NUT & WASHER (SEE NOTE 2)

PN 6120B WOOD BLOCK

PN 33875G ANGLE STRUT

PN 41408 WOOD POST
£-01/4 16
PN 7056 PIPE SLEEVE PN 782G BEARING PLATE 8" x 5/8" x 8"
INSERTED INTO POST #1
PN 3000G CABLE ASSEMBLY
W/1” HEX NUT & WASHER

(SEE DETAIL) EACH END

%

4

NOTES: (BEARING PLATE ORIENTATION)

1.) DO NOT ATTACH GUARDRAIL TO POST # 1.

2.) THE 5/8" FLAT WASHER IS USED UNDER THE NUT, BEHIND THE POST ONLY,
NO WASHER IS USED AT THE RAIL

3.) RELECTORIZATION OF ET HEAD IMPACT FACE SHALL BE PROVIDED PER W DOT
SPECIFICATIONS AND DETAILS.

4.) CHECK THAT ET PLUS HEAD IS PUSHED AS FAR AS IT WILL GO ON TO THE RAIL
PANEL, ENSURING RAIL PANEL IS FULLY ENGAGED WITH EXTRUDER THROAT.

5.) ALIGN ET PLUS HEAD APPROXIMATELY PARALLEL TO GROUND. LOCATE (1) HOLE IN EACH
BRACKET THAT IS NEAREST TO THE MIDDLE OF POST FACE. PRIOR TO INSTALLING LAG SCREWS,
DRILL 1/4"¢ HOLES INTO WOOD POST THROUGH PRESELECTED BRACKET HOLES.

] \
5/8"0 x 71/2° LG

HEX HD BOLT & NUT

CHK'D DATE REMARKS

9))))))))))\\”\\‘7 =T =

ET-31 1/2"
31" HIGH WITH 127 BLOCKS, 4 PANELS,
7 CRT POSTS & 2 WOOD POSTS /SLEEVES
PLAN, ELEVATION & SECTION

O S =5
| | |
N | \ e
\ \ /} \
| | » » I
| | HS 3/4°8 x 9 1/2” LG HEX .
\ \ HD BOLT & NUT W/2 WASHERS | |
\ \ I
| L
O — 3 — 1 — ==
NOTE:
THIS BOLT MUST BE HIGH STRENGTH
5/8°¢ x 7 1/2" LG — INSTALL 50 NUT & WASHER ARE
HEX HD BOLT & NUT ON TRAFFIC SIDE OF POST.
(SEE VIEW "K—=K")
\PN 7496 STEEL TUBE/
SECTION B-B 6 x 8
(TYP @ POSTS #3 THRU 9) \ —
SECTION "A-A PARTIAL VIEW @ POST #1
@ (@ POST #2) DO NOT ATTACH GUARDRAIL TO POST

The drawings and the information shown thereon are copyrighted by Trinity
Highway Products (2011) and the sole property of Trinity Highway Products.
Neither the drawings nor such information is to be used for any purpose
other than that for which it was specifically furnished from Trinity Highway
Products, LLC., nor is any reproduction authorized without written permission.

DRAWN

CHECKED S6

SCALE N.T.S.

DATE 06-02-11

4. TRINITY HIGHWAY PRODUCTS, LLC.

‘ ' 2525 STEMMONS FREEWAY

DALLAS, TX 75207

ENG. FILE # SS540WI—01E

SHT.No. E1 OF 1

DRAWING NO.

SS—540W

) .




	Roadway Standards
	CMM Main Page
	Construction and Materials Manual
	CMM Foreword
	Table of Contents
	Construction Notes
	Glossary
	Forms/Worksheets
	CMM Chapter 1  General Provisions
	SECTION 10  Construction Notes
	SECTION 15  Glossary
	SECTION 30  Hazardous Materials
	SECTION 35  Safety
	SECTION 40  Field Facilities and State-Owned Equipment
	SECTION 45  Traffic Control
	SECTION 50  Construction Equipment
	SECTION 55  Construction Site Crashes
	SECTION 58  Archaeological and Burial Considerations
	SECTION 60  Construction Inspection
	SECTION 65  Contract Records
	SECTION 70  Performance Measures

	CMM Chapter 2  Contract Management
	SECTION 10  Contracts and Agreements
	SECTION 14  Federal Aid Local Road Projects
	SECTION 15  Transparency Efforts for Projects
	SECTION 16  Consultant Contracts for Construction Services
	SECTION 18  Project Relationships and Communication
	SECTION 19  Construction Services by Local Units of Government
	SECTION 20  Public Relations
	SECTION 22  Notice to Proceed
	SECTION 24  Labor Compliance
	SECTION 26  Preconstruction Meeting
	SECTION 28  Laws and Standards
	SECTION 30  Right of Way
	SECTION 32  Measurement and Payment
	SECTION 33  Payment - LFA Agreements
	SECTION 34  Site Time - Damages and Incentives
	SECTION 36  Intermediate/Tentative/Final Estimates
	SECTION 38  Administrative Items
	SECTION 40  Prompt Payment
	SECTION 42  Contract Modifications
	SECTION 44  Cost Reduction Incentive
	SECTION 46  Force Account Work
	SECTION 48  Suspension of Work
	SECTION 50  Project Acceptance
	SECTION 52  Bonds and Warranties
	SECTION 54  Contract Claims
	SECTION 56  Utilities
	SECTION 58  Railroad Agreement
	SECTION 60  Subcontracting

	CMM Chapter 3  Earthwork and Bases
	SECTION 10  Clearing and Grubbing
	SECTION 15  Removing Miscellaneous Structures
	SECTION 20  Roadway and Drainage Excavation
	SECTION 25  Structure Excavation
	SECTION 30  Embankments
	SECTION 35  Borrow Excavation
	SECTION 40  Granular Subbase Course
	SECTION 45  Dust Control
	SECTION 50  Rubblizing Concrete Pavement

	CMM Chapter 4  Pavements
	SECTION 10  Concrete Pavement - General
	SECTION 11  Preparing the Grade for Concrete Pavement
	SECTION 15  Hauling and Placing Concrete
	SECTION 16  Concrete Consolidation
	SECTION 17  Concrete Finishing
	SECTION 18  Concrete Texturing and Tining
	SECTION 19  Protecting Freshly Placed Concrete
	SECTION 21  Pavement Joints
	SECTION 24  Concrete Paving Inspection
	SECTION 50  Asphalt Pavement - General
	SECTION 51  Mixing Plants
	SECTION 53  Mix Production
	SECTION 54  Preparation of Foundation for Asphalt Pavement
	SECTION 56  Hauling Asphaltic Mixture
	SECTION 57  Asphalt Pavers
	SECTION 58  Placing Asphalt Mixtures
	SECTION 59  Asphalt Mat Inspection
	SECTION 61  Compaction and Density of Asphalt Pavement
	SECTION 65  Pavement Marking, Roads Open to Traffic

	CMM Chapter 5  Structures
	SECTION 10  Concrete Masonry
	SECTION 15  Concrete Structures
	SECTION 20  Steel Bridges
	SECTION 25  Bridge Decks
	SECTION 28  Concrete Deck Overlays and Structure Repairs
	SECTION 30  Painting
	SECTION 40  Piling
	SECTION 45  Railing
	SECTION 50  Pipe Culverts
	SECTION 55  Shop Fabrication Plans
	SECTION 60  Post Award Acceptance of Design/Build Retaining Walls

	CMM Chapter 6  Miscellaneous Construction
	SECTIONS 10 - 25
	SECTION 10  Concrete Curb and Gutter
	SECTION 15  Storm Sewer
	SECTION 20  Manholes and Inlets
	SECTION 25  Marker Posts, Cable Guard Fence, and Steel Plate Beam Guard

	SECTION 26  Energy Absorbing Terminals
	6-26.1  ENERGY ABSORBING TERMINALS
	6-26.1.1  
	6-26.1.1.1  Installation Issues

	6-26.1.2  Grading Issues
	6-26.1.3  Curb and Gutter Issues
	6-26.1.4  Fixed Object Issues

	Exhibit 1  Trinity Highway Products - Drawings

	Exhibit 2  Trinity Highway Products - Photos

	Exhibit 3  Roadway Systems - Drawings
	Exhibit 4  Roadway Systems - Photos

	SECTION 30  Property Fence and Right of Way Fence
	SECTION 35  Maintenance and Repair of Haul Roads
	SECTION 40  Landscaping
	SECTION 45  Erosion Control
	SECTION 50  Pavement Marking
	SECTION 55  Electrical Construction
	SECTION 60  Well Construction and Borehole Abandonment

	CMM Chapter 7  Construction Surveying
	SECTION 10  Construction Surveying - General
	SECTION 15  Highway Staking
	SECTION 18  GPS Machine Guidance
	SECTION 20  Staking Storm Sewer System
	SECTION 25  Staking Subgrade and Base
	SECTION 30  Staking Curb, Gutter, Curb and Gutter, and Concrete Barrier
	SECTION 35  Staking Pipe Culverts
	SECTION 40  Staking Structure Layout
	SECTION 45  Staking Concrete Pavement
	SECTION 50  Staking Re-Surfacing Reference
	SECTION 55  Staking Electrical Installations
	SECTION 60  Staking Supplemental Control
	SECTION 62  Slope Staking
	SECTION 65  Staking Right of Way
	SECTION 70  Cross Sections and Digital Terrain Models
	SECTION 75  Staking Borrow Pits
	SECTION 80  Constructing and Restoring Access Points
	SECTION 85  Survey Monuments

	CMM Chapter 8  Materials Testing, Sampling, Acceptance
	SECTION 10  Materials - General
	SECTION 13  Weighed Materials
	SECTION 15  Density Testing
	SECTION 20  Independent Assurance Program
	SECTION 30  QMP - General
	SECTION 32  QMP - Subgrade
	SECTION 34  QMP - Aggregate
	SECTION 35  QMP - Concrete
	SECTION 36  QMP - HMA
	SECTION 38  QMP Ride
	SECTION 40  Materials Sampling
	SECTION 45  Materials Testing and Acceptance - General
	SECTION 50  Materials Testing and Acceptance Guide
	SECTION 55  Materials Testing and Acceptance - Earthwork
	SECTION 60  Materials Testing and Acceptance - Aggregates
	SECTION 65  Asphalt Binder Materials
	SECTION 70  Materials Testing and Acceptance - Concrete
	SECTION 75  Materials Testing and Acceptance - Structures





